6H 1I5FE 7TH 1157
B | B | ¥ = TR B | B | ¥ = TR
|| | FEE2R 1~4514:50 | |[A| 1 | &
W[ RER 5,6 £15:55 2 |
NE e PRIRE 2R 3 18
KBEILA (2, 4, 55F) o 6-2 LIS 14 1 45
s | o | HERE3E 4| | 6 2mPERIER 6—2 15: 55
AE#HLB (1, 3, 65F) . 5| K | IETHhLEE=E6E
4 |+ 6 |7k LHE 14:50
5 |H T K
6 | B | BORE6E 8 |&
T | K| BHRESE 9 | £
8 | K |BEHRELE SEEF 14:50 10 8
B BAREIE  FEHILA 1| g | BB 4513115
9 | K| NAFUTHB6E FREREREH
SR s O 12 | K | BH= 2FF 13:15
10 | & | BAORE2E  (FEWALB B3 | |"MESTH 1~3%14:50
11| x Al 4~6%F 15:55
= 14 | Kk | Bs £HE 13:15
13| B |\OrE1F 5 e Z’iff%ﬁ v L1315
14| K - A
\ 1~314:50 16
A R e 4~6% 15:55 :Z E —
RS A :
16 |k | g xoreaseE FTRGRIAS |19 | o | e 4 B £¥£12:00
3 - 1 R 3711535 20 | K | 1 2HpRER £F¥E12:00
17 | & | k&AL B 21 | &
18 | + 22 | &
19183 23 |
0 | g | AR (~7/9) ;4 B
MIM 5 1 5 | A
21 | & 26 | X
B Tk v SHE 14:50 2T | X
23 | KR
24 | &
25 | =
26 | B
27 | B
28 | K
A . 1~4£14:50
B x| ERS 5, 6% 15:55
30 | R

ML 55 X 2 ORI D 720,

Hited 52 L0H Y 3,

LEINSEERNS VT 14 7T MEZDBEVADEESFL TS
RE>TVHISDH AT AN, EBNICZOFEHICEOZEE

(CERTRONEZEDN) Z/HRUL TSI > TVET XEHED
REZEMICAH DO TVRITNDT, KEBENHNILTESIZT L,




